

On the Finite Parts of Divergent Integrals

Yukio KURIBAYASHI*

(Received September 16, 1975)

1. Introduction

The products of distributions have been discussed by B. Fisher [1]–[5], M. Itano and S. Hatano [6], J. Mikusiński [7], L. Schwartz [8], H. G. Tillmann [9], etc.

B. Fisher [5] gave the following result:

$$\text{THEOREM A.} \quad x^{-r}\delta^{(r-1)}(x) = \frac{(-1)^r(r-1)!}{2(2r-1)!} \delta^{(2r-1)}(x)$$

for $r=1, 2, 3, \dots$

M. Itano and S. Hatano [6] gave the following result:

THEOREM B. *The product $\text{Pf} \frac{1}{x^n} \circ \delta^{(n-1)}$ exists for any positive integer n and*

$$\text{Pf} \frac{1}{x^n} \circ \delta^{(n-1)} = \frac{(-1)^n(n-1)!}{2(2n-1)!} \delta^{(2n-1)}.$$

The main purpose of this paper is to give the following two theorems:

THEOREM 1. *Let $n \in N^u \setminus \{0\}$ and $\alpha \in R$. Then*

$$(1) \quad \begin{aligned} \text{Pf. } (x_+^\alpha \delta^{(n)}) &\stackrel{w}{=} \frac{(-1)^{-\alpha} n!}{(n-\alpha)!} \delta^{(n-\alpha)} && \text{if } n-\alpha \in N^u \setminus \{0\}, \\ &\stackrel{w}{=} 0 && \text{if } n-\alpha \in N^u \setminus \{0\}. \end{aligned}$$

THEOREM 2. *Let $m \in N$ and $\alpha \in R$. Then*

$$(2) \quad \begin{aligned} \text{Pf. } \left(\frac{d}{dx} (x_+^\alpha Y^m) \right) &\stackrel{w}{=} \alpha \text{Pf. } (x_+^{\alpha-1} Y) + \text{Pf. } (x_+^\alpha \delta) \\ &\stackrel{w}{=} \alpha \text{Pf. } (x_+^{\alpha-1} Y) + \frac{(-1)^{-\alpha}}{(-\alpha)!} \delta^{(-\alpha)} && \text{if } -\alpha \in N^u \setminus \{0\}, \\ &\stackrel{w}{=} \alpha \text{Pf. } (x_+^{\alpha-1} Y) && \text{if } -\alpha \notin N^u \setminus \{0\}. \end{aligned}$$

* Laboratory of Mathematics, Faculty of Education, Tottori University, Tottori, Japan.

2. Preliminaries

We use the notation $(\mathcal{L}\mathcal{S})$ as follows:

$$(\mathcal{L}\mathcal{S}) = \{f = (f_1, f_2, \dots, f_k, \dots); f_k \in (\mathfrak{M}) \quad \text{for each } k \in N\},$$

where (\mathfrak{M}) is the set of all real valued, locally integrable, functions defined on R .

DEFINITION 1. A function $f \in (\mathcal{L}\mathcal{S})$ is said to be class C^n if there exists a natural number k_0 such that f_k is class C^n whenever $k \geq k_0$.

DEFINITION 2. Let $f \in (\mathcal{L}\mathcal{S})$ and $S \in (\mathcal{D})'$. Define

$$(3) \quad \text{Pf.}(f) \stackrel{w}{=} S$$

if there exists a function g such that

$$(4) \quad g(k, \varphi) = c_0(\varphi) \log k + c_1(\varphi) k^{\lambda_1(\varphi)} + \dots + c_n(\varphi) k^{\lambda_n(\varphi)}$$

for each $k \in N$ and $\varphi \in (\mathcal{D})$, where the $c_i(\varphi)$, $0 \leq i \leq n$, and the $\lambda_i(\varphi)$, $1 \leq i \leq n$, which are real numbers, depend on φ , and $0 < \lambda_1(\varphi) < \dots < \lambda_n(\varphi)$,

$$(5) \quad \lim_{k \rightarrow \infty} \left(\int_{-\infty}^{\infty} f_k(x) \varphi(x) dx - g(k, \varphi) \right) = S(\varphi)$$

for each $\varphi \in (\mathcal{D})$.

LEMMA 1. Let $f \in (\mathcal{L}\mathcal{S})$ be a class C^1 function and $S \in (\mathcal{D})'$.

$$(6) \quad \text{If } \text{Pf.}(f) \stackrel{w}{=} S, \text{ then } \text{Pf.}\left(\frac{d}{dx}f\right) \stackrel{w}{=} S'.$$

PROOF. Let $\varphi \in (\mathcal{D})$. Since $\text{Pf.}(f) \stackrel{w}{=} S$, we have

$$\begin{aligned} & \lim_{k \rightarrow \infty} \left(\int_{-\infty}^{\infty} f_k(x) (-\varphi'(x)) dx - (c_0(-\varphi') \log k + c_1(-\varphi') k^{\lambda_1(-\varphi')} + \dots + c_n(-\varphi') k^{\lambda_n(-\varphi')}) \right) \\ &= S(-\varphi') \\ &= S'(\varphi). \end{aligned}$$

Since f is class C^1 , there exists a natural number k_0 such that

$$\int_{-\infty}^{\infty} f_k(x) (-\varphi'(x)) dx = \int_{-\infty}^{\infty} f'_k(x) \varphi(x) dx$$

whenever $k \geq k_0$.

Hence, we have

$$\lim_{k \rightarrow \infty} \left(\int_{-\infty}^{\infty} f'_k(x) \varphi(x) dx - (c'_0(\varphi) \log k + c'_1(\varphi) k^{\lambda'_1(\varphi)} + \dots + c'_n(\varphi) k^{\lambda'_n(\varphi)}) \right) = S'(\varphi),$$

where $c'_0(\varphi) = c_0(-\varphi'), c'_1(\varphi) = c_1(-\varphi'), \dots, c'_n(\varphi) = c_n(-\varphi'),$
 $\lambda'_1(\varphi) = \lambda_1(-\varphi'), \dots, \lambda'_n(\varphi) = \lambda_n(-\varphi').$

Therefore we have

$$\text{Pf.} \left(\frac{d}{dx} f \right) \stackrel{w}{=} S'.$$

Let $\delta \in (\mathcal{L}\mathcal{S})$ be a function having the following properties:

- (7) $0 < a_k < b_k,$
- (8) a_k^{-1} is a monomial of $k,$
- (9) $b_k - a_k < e^{-k},$
- (10) $\delta_k \in (\mathcal{D}),$
- (11) $\delta_k(x) \geq 0,$
- (12) $\text{Car}(\delta_k) \subset (a_k, b_k),$
- (13) $\int_{a_k}^{b_k} \delta_k(x) dx = 1.$

LEMMA 2. Let $f, g \in (\mathcal{L}\mathcal{S})$ be class C^n functions.

(14) If $f \stackrel{w}{=} g$ then $f^{(n)} \stackrel{w}{=} g^{(n)}.$

PROOF. Since $f \stackrel{w}{=} g,$ we have

$$\lim_{h \rightarrow \infty} \int_{-\infty}^{\infty} f_k(x) \varphi(x) dx = \lim_{k \rightarrow \infty} \int_{-\infty}^{\infty} g_k(x) \varphi(x) dx$$

for each $\varphi \in (\mathcal{D}).$

Since f, g are class C^n functions, we have

$$\begin{aligned} \lim_{k \rightarrow \infty} \int_{-\infty}^{\infty} f^{(n)}(x) \varphi(x) dx &= \lim_{k \rightarrow \infty} (-1)^n \int_{-\infty}^{\infty} f_k(x) \varphi^{(n)}(x) dx \\ &= \lim_{k \rightarrow \infty} (-1)^n \int_{-\infty}^{\infty} g_k(x) \varphi^{(n)}(x) dx \\ &= \lim_{k \rightarrow \infty} \int_{-\infty}^{\infty} g_k^{(n)}(x) \varphi(x) dx \end{aligned}$$

for each $\varphi \in (\mathcal{D})$.

Therefore we have $f^{(n)} \stackrel{w}{=} g^{(n)}$.

Let Y be the function defined by

$$Y(x) = (Y_1(x), Y_2(x), \dots, Y_k(x), \dots),$$

where $Y_k(x) = \int_{-\infty}^x \delta_k(t) dt$ for $k \in N$.

We have the following lemma:

LEMMA 3. *Let $m, n \in N$. Then*

$$(15) \quad \frac{d^n}{dx^n} Y^m = \sum_{p_1 + \dots + p_m = n} \frac{n!}{p_1! \dots p_m!} \delta^{(p_1-1)} \dots \delta^{(p_m-1)} \\ \stackrel{w}{=} \delta^{(n-1)},$$

where $\delta^{(-1)} = Y$ and $\delta^{(0)} = \delta$.

PROOF. We immediately have that

$$\frac{d^n}{dx^n} Y^m \stackrel{w}{=} \delta^{(n-1)}.$$

Since

$$\frac{d^n}{dx^n} Y_k^m(x) = \sum_{p_1 + \dots + p_m = n} \frac{n!}{p_1! \dots p_m!} Y_k^{(p_1)}(x) \dots Y_k^{(p_m)}(x) \\ = \sum_{p_1 + \dots + p_m = n} \frac{n!}{p_1! \dots p_m!} \delta_k^{(p_1-1)}(x) \dots \delta_k^{(p_m-1)}(x),$$

we have (15).

REMARK 1. Let $m=2$ and $n=1$. Then

$$2Y\delta \stackrel{w}{=} \delta.$$

Let $m=3$ and $n=1$. Then

$$3Y^2\delta \stackrel{w}{=} \delta.$$

We thus have

$$(16) \quad \delta(Y - Y^2) \stackrel{w}{=} \frac{1}{6} \delta \quad \text{and} \quad Y - Y^2 \stackrel{w}{=} 0.$$

3. Proofs of Theorems 1 and 2

Now let x_α^\ddagger , where $\alpha \in R$, be the function defined by

$$\begin{aligned} x_+^\alpha &= x^\alpha & \text{if } x > 0 \\ &= 0 & \text{if } x \leq 0. \end{aligned}$$

LEMMA 4. Let $\alpha > 0$ and let f be a real valued continuous function defined on R . Then

$$(17) \quad \int_{-\infty}^{\infty} f(x) x_+^\alpha \delta_k(x) dx \stackrel{w}{=} 0.$$

PROOF. Since

$$\lim_{k \rightarrow \infty} \int_{-\infty}^{\infty} f(x) x_+^\alpha \delta_k(x) \varphi(x) dx = 0 \quad \text{for each } \varphi \in (\mathcal{D}),$$

we immediately have (17).

LEMMA 5. Let $\alpha > 0$ and $\alpha \notin N$. Then

$$(18) \quad \text{Pf. } \int_{-\infty}^{\infty} x_+^{-\alpha} \delta(x) dx \stackrel{w}{=} 0.$$

PROOF. We may take $l \in N$ and $l > \alpha$. Taylor's theorem gives

$$\begin{aligned} & \int_{-\infty}^{\infty} x_+^{-\alpha} \delta_k(x) \varphi(x) dx \\ &= \int_{a_k}^{b_k} \delta_k(x) \left(\varphi(0) x^{-\alpha} + \frac{\varphi'(0)}{1!} x^{1-\alpha} + \dots + \frac{\varphi^{(m)}(0)}{m!} x^{m-\alpha} + \dots + \frac{\varphi^{(l)}(\theta x)}{l!} x^{l-\alpha} \right) dx \end{aligned}$$

for each $\varphi \in (\mathcal{D})$.

If $m - \alpha < 0$, then

$$a_k^{m-\alpha} \geq \int_{a_k}^{b_k} \delta_k(x) x^{m-\alpha} dx \geq b_k^{m-\alpha}.$$

Therefore, using the Lemma 4, we have (18).

PROOF OF THEOREM 1. We may take $l \in N$ and $l + \alpha > n$. Let $\varphi \in (\mathcal{D})$. Then

$$\begin{aligned} & \int_{-\infty}^{\infty} x_+^\alpha \delta_k^{(n)}(x) \varphi(x) dx \\ &= (-1)^n \int_{a_k}^{b_k} \delta_k(x) \left(\varphi(0) x^\alpha + \frac{\varphi'(0)}{1!} x^{1+\alpha} + \dots + \frac{\varphi^{(m)}(0)}{m!} x^{m+\alpha} + \dots + \frac{\varphi^{(l)}(\theta x)}{l!} x^{l+\alpha} \right)^{(n)} dx. \end{aligned}$$

If $n = m + \alpha$, then

$$\left(\frac{\varphi^{(m)}(0)}{m!} x^{m+\alpha} \right)^{(n)} = \frac{n! \varphi^{(n-\alpha)}(0)}{(n-\alpha)!}.$$

Therefore we have (1).

PROOF OF THEOREM 2. We immediately have

$$\begin{aligned} \frac{d}{dx} \left(x_+^\alpha Y^m \right) &= \alpha x_+^{\alpha-1} Y^m + x_+^\alpha m Y^{m-1} \delta \\ &\stackrel{w}{=} \alpha x_+^{\alpha-1} Y + x_+^\alpha \delta. \end{aligned}$$

Using the Theorem 1 we have the result that

$$\begin{aligned} \text{Pf. } (x_+^\alpha \delta) &\stackrel{w}{=} \frac{(-1)^{-\alpha}}{(-\alpha)!} \delta^{(-\alpha)} & \text{if } -\alpha \in N^u \{0\}, \\ &\stackrel{w}{=} 0 & \text{if } -\alpha \notin N^u \{0\}. \end{aligned}$$

Therefore we have (2).

COROLLARY 1 (L. Schwartz [8]). *Let $l \in R$. Then*

$$(19) \quad \frac{d}{dx} \left[\text{Pf. } \frac{Y}{x^l} \right] \stackrel{w}{=} \text{Pf. } \left(\frac{-l}{x^{l+1}} \right) + (-1)^l \frac{\delta^{(l)}}{l!} \quad \text{if } l \in N^u \{0\},$$

$$(20) \quad \frac{d}{dx} \left[\text{Pf. } \frac{Y}{x^l} \right] \stackrel{w}{=} \text{Pf. } \left(\frac{-l}{x^{l+1}} \right) \quad \text{if } l \notin N^u \{0\}.$$

PROOF. This result is an immediate consequence of Lemma 1 and Theorem 1. Let x_+^α , where $\alpha \in R$, be the function defined by

$$\begin{aligned} x_+^\alpha &= e^{i\alpha\pi}(-x) & \text{if } x < 0, \\ &= 0 & \text{if } x \geq 0, \end{aligned}$$

and let δ_- , Y_- be the functions defined by the following equations:

$$\delta_-(x) = \delta(-x), \quad Y_-(x) = Y(-x).$$

We immediately have the following results:

THEOREM 3. *Let $n \in N^u \{0\}$ and $\alpha \in R$. Then*

$$\begin{aligned} (21) \quad \text{Pf. } (x_+^\alpha \delta_-^{(n)}) &\stackrel{w}{=} e^{i\alpha\pi} \frac{n!}{(n-\alpha)!} \delta^{(n-\alpha)} & \text{if } n-\alpha \in N^u \{0\}, \\ &\stackrel{w}{=} 0 & \text{if } n-\alpha \notin N^u \{0\}. \end{aligned}$$

COROLLARY 2. *Let $n \in N^u \{0\}$ and $\alpha \in R$, and let A, B be non-negative real numbers such that $A+B=1$. Then*

$$(22) \quad A\delta + B\delta \stackrel{w}{=} \delta,$$

$$(23) \quad \text{Pf. } (x_+^\alpha A\delta^{(n)}) + \text{Pf. } (x_+^\alpha B\delta_-^{(n)})$$

$$\stackrel{w}{=} (-1)^{-\alpha} \frac{n!}{(n-\alpha)!} \delta^{(n-\alpha)} \quad \text{if } n-\alpha \in N\{0\},$$

$$\stackrel{w}{=} 0 \quad \text{if } n-\alpha \in N^u\{0\}.$$

THEOREM 4. Let $m \in N$ and $\alpha \in R$. Then

$$(24) \quad \begin{aligned} \text{Pf.} \left(\frac{d}{dx} (x_{-}^{\alpha} Y_{-}^m) \right) &\stackrel{w}{=} \alpha \text{Pf.} (x_{-}^{\alpha-1} Y_{-}^m) - \text{Pf.} (x_{-}^{\alpha} m Y_{-}^{m-1} \delta_{-}) \\ &\stackrel{w}{=} \alpha \text{Pf.} (x_{-}^{\alpha-1} Y_{-}) - \text{Pf.} (x_{-}^{\alpha} \delta_{-}) \\ &\stackrel{w}{=} \alpha \text{Pf.} (x_{-}^{\alpha-1} Y_{-}) - \frac{(-1)^{-\alpha}}{(-\alpha)!} \delta^{(-\alpha)} \quad \text{if } -\alpha \in N^u\{0\}, \\ &\stackrel{w}{=} \alpha \text{Pf.} (x_{-}^{-\alpha} Y_{-}) \quad \text{if } -\alpha \notin N^u\{0\}. \end{aligned}$$

COROLLARY 3 (L. Schwartz [8]). Let $l \in R$. Then

$$(25) \quad \begin{aligned} \frac{d}{dx} \left[\text{Pf.} \left(\frac{Y_{-}}{x^l} \right) \right] &\stackrel{w}{=} \text{Pf.} \left(\frac{-l Y_{-}}{x^{l+1}} \right) - (-1)^l \frac{\delta^{(l)}}{l!} \quad \text{if } l \in N^u\{0\}, \\ &\stackrel{w}{=} \text{Pf.} \left(\frac{-l Y_{-}}{x^{l+1}} \right) \quad \text{if } l \in N^u\{0\}. \end{aligned}$$

References

- [1] B. FISHER, Products of generalized functions, *Studia Math.* **33** (1969), 227-230.
- [2] ———, The product of distributions, *Quart. J. Math., Oxford* (2), **22** (1971), 291-298.
- [3] ———, The product of the distributions $x_{+}^{-r-\frac{1}{2}}$ and $x_{-}^{-r-\frac{1}{2}}$, *Proc. Camb. Phil. Soc.*, **71** (1972), 123-130.
- [4] ———, The product of distributions x^{-r} and $\delta^{(r-1)}(x)$, *Proc. Camb. Phil. Soc.*, **72** (1972), 201-204.
- [5] ———, Convergent and divergent products of distributions, *The Math. Student*, **41-4** (1973), 409-421.
- [6] M. ITANO and S. HATANO, Note on the multiplicative products of x_{\pm}^{α} and x_{\pm}^{β} , *Mem. Fac. Gen. Ed. Hiroshima Univ.* **3**, **8** (1974), 159-174.
- [7] J. MIKUSIŃSKI, On the square of the Dirac Delta-distribution, *Bull. Acad. Polon. Sci. Ser. Sci. Math. Astr. Phys.*, **14** (1966), 511-513.
- [8] L. SCHWARTZ, *Théorie des distributions*, Hermann, Paris, 1973.
- [9] H. G. TILLMANN, Darstellung der Schwartzschen Distributionen durch analytische Funktionen, *Math. Z.*, **77** (1961), 106-124.

